xt-y? Xy +Y

8. X
X2+ 2xy +y* X2 — xy
Solution:
X2 —y? § Xy + y? _ (x+y)(x-y) . y(x+y)
X%+ 2xy + Y x> — Xy (X +y) X(X-Y)
- Y
B X
x* — 8x 2x -1 X +3
9. — X X
2x% + 5x — 3 X2+ 2X + 4 X2 — 2X

Solution: 2x*+5x-3 = (2x-1) (x+3) 0. \)\4
a\e- G

x* — 8x X 2Xx—1 x+3ﬁrﬁ@%+2x+4) X 2X—1 X X+3
2x° +5x—3 x+2x-'lr‘4 (ﬁZX\ ~(2x -@l+3) X +2x + 4 X (x—2)

ol
p(e\"e\N page?’ 1

10 BX°— X —2 12x% + 7x —12 « 12x% —13x — 4
T8 +6x+1 9%x° + 6X — 8 12x% — 25x + 12
Solution:
BX2—X—2 = BX°—4AX+3X—2

2X(3x—2)+1(3x—-2) = (x-2)(x+1)

8% +6x+1 = 8X*+4x+2x+1
= dx(2x+1)+1(2x+1) = (2x+1)(4x+1)
123 - 7x—12 = 12x* + 16x — 9x 12
= 4x(3x+4)-3(3x+4) = (3x+4)(4x-3)
OX*+6x—-8 = Ox*+12x—16x—8
= X(Bx+4)-2(3x+4) = (3x+4)(3x-2)
12X —13x— 4 = 12x*—16x+3x— 4



